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Which function has a range of]—ao 4]and is positive for
x e[-5, ~1]?

f(x) = ‘4(}{-;-*'.;}).2 -1

g(x)=—4(x+5) 1

h(x)=-x*-6x-5 Aoy
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If its height is 2x — 3 what algebraic expression

representsmeareaofitsbase?

V= 2x’ 5x% +5x -3

~AE-—\-/-“— o0~ 5545 %-3
T h

ey

(x :(’tl)

-3 ) g3
Lo 3x*
U5 d
~Ztrlx
273




Nam_e

The follawing rectangle and nght trmng!e are
equivalent. What are the numerical dimensions of both
shapes?
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Thetablo balowshom four algebraicopera&ons When
tlwyare peﬂormad and reduced to simplest form, they will
showapattem Note that none of the denominators may

| beequaltozero - | | | )

# Aktbraic Oporatlon | Reducad Result
1| @4+3x32 . (4x+9) L

' X+2 - 18X +8x+1
2| (Fraxr)(xsd)

e TX412
3| 2¢=8x-5 2x*+3x-2
4x* -1 x-~§

4 2 +11x+15

What is the missing denominator in the 4th aigebraic
operation if we want to conﬂnue the pattern in the reduced

‘ resultcotumn? J( %5
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Which of the foilowmg four systems of equat;ons does not
have a real solution when m>0?

- Y2=X2<—m | ='m r )
b) y,=-x* d) y1=.;_xz__n
Yy =-m S Yp=-n |
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Function g is deﬁned by g(xg = 2x? +16x + 33. Which of the
following statements is false

fa) If x & R,then func_tlon g is positive.

N
-b) If X e[—4 oo[ then function gis lncreasing T T

2 Y5 b (- 4) %33

\

@ Ifxe [1,00[ then function g Is decreasing.
d) The rangeisy e [1,oo[ vV (B
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Perforrn the fellowlng operations and reduce your answers
to their simplest forms with positlve exponents. G
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Thevolumeofﬁeprismahownbelowlst +11%% +18x + 9.
-+ If its height s 243 what two binomials representthe
- dlmansbnsoftm base?
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V=25 + 1162 +18x +9
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. The Sunsthine C!rms Company has some amazmg
acrobats. In the carteslan plane below, function f shows the
path of a person on a zip-line, while function g displays the
path of another performer bouncing from a trampoline. At a

height of 80 feet the two perl'on'ner’s paths meet at polnts B
,and D. >

The maximum height of the .
trampoline specialist and the \
minimum height of the zip-line

£(x)=0.08(x ~25) +62

performer have thesame gol
x—value on the Carteslan plane.
W‘hatistherule of the function
g that maps the path of the
trampoline specialist?
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Perform the foﬂowing subtraction, reduce your rasult and state all restﬁctions on the
variab!e -

‘ x4 - X+5
o e x> ~5x+6 x2 4x+3
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Agmsshwperiss@dmgonastumpmatis
10 cm abave the ground. It jumps from the
stump and tands on the ground and then.
mﬁ:aaasmdjumpmdsmps

. Onltsﬁmtjmmp ihegr&ashopper
reached a maximum helght of 18 cm

- off the ground when ithad traveled a
horlmntafdlstanoeoftlcm -

. Duﬂngﬂsseoondjump,megrasahopper
reached a maximum height of 16 cm

off the ground, a horizontal distance of

14cmfrommem
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At what height was the grasshopper during its second jump when it was a horlzontal

distance of 17 cm from the Imp?
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The polygons shown'below have the following propesties:

* .BABC s an Isosceles triangle and DEFG s a rectangle
. mepaimetorofAABCisaﬁunits

Thepe;imetefofDEFGithmﬁs

£ y+5

2x+1

G

Given the above Information, determine if the two ﬁgures are equlvalent in area.

Justify your decision.
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Considerﬂmfo!bwingsysternsofequauonswhere a>0,b>08&c>0 and o
arb#c.

1’ L-L;‘E‘-—x*(.
1) y=-g-x-c & y=—x+c o b

2) y=x*+a* & y=-2ax
| a e . 8
3) y=px-c & y= bx+?

Which of the above systen'ns of equations have only one solution?
a) Systems 1and 2 only

/. System 3 only ’

c) Systems 2 and 3 only
d) System 2 only
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mﬁiechamofweraﬂmwbelow the nurmratorsanddmomlnatm"sofmemﬁonal
expressions are never aqual to zero. ‘

- Tx-3 +x2+x 12 X' +2x~3
X’ +3x-4 x2 9 x2+5x+4

Perform the operations and naduoo your flnal ahswer.
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